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MECHANICAL ESTIMATING & COSTING

Frofe i | -  Rem e
Time allowed : Three Hours] : - [Maximum Marks : 70

We: (i) FETIRE IR IR
Note : Answer any FOUR questions.
(i) T T 5 ) AT o e e |
Solve all parts of a question consecutively together.
(iii) NI 3% T 78 @ I FR
Start each question on fresh page.
(iv) AT SramsiY & oy 813 93 FRufy #F sl srgame & o & 1
_ Only English version is valid in case of difference in both the languages.
) ﬁﬁmﬁﬁwwﬁﬁwaﬁﬁmmm /

If any data is not given, assume it suztably

L () e S v RIReT | o when wt wem |
Write aims of costing. Explain costing procedure.
- (i) ﬁaﬂﬁmﬁﬁmmaﬁlsmilémomzﬁmmmmm
ok e O & e Prem R

A factory has 15 lathes of same make and capacity. Lathes occupy 30 m? area
During one calendar year, factory expenses are as follows :
© (a) W % Forn o e

Building rent and depreciation = ¥ 5,000
(b) ST AW T e

Indirect labour and matenal g 15, 000
(c) |
Insurance = ¥ 2,000

(1ofd) I . PT.O.



@

)

.0

@ wﬂm

@ofd) | 3186

Depreciation charges =X 5, 000

(¢) TEET

Power consumption =X 2,000

mm%mmmamm wﬁmﬂmwaﬁw 25000uu%mmﬁ
Ll |

Find out the machine hour rate for lathe machmes, if all the lathe machmes work
for 25,000 hours. s N
(7+10v%%)

T e 3 Ford v el s v 4R |

Give details of steps required for job evaluation. ‘ '
-1 & wefifa 100w ¥ fafmin % @ smaws AT T O BT AEE

ﬁmlmmmsm/ﬁﬁ3®mmuowﬁﬁsmtl

~ Estimate the volume and cost of the 100 shafts shown in Fig. 1. The density of "

material is 8 gm/cm3 and cost of material is ¥ 1.0 per kg.

o 10};.

sfe—20—3| 9 |¢—15—a|e—20———»|

mﬂmﬁmi&t | / All dimensions are in mm.
fum- 1/Fig-1

(7 +10Y2)

frfeRea = wfonfya FikA
‘Define the following :
(a) ®e-39
Setup time
(b) T a9
" Operation time
(c) wimgm
Machining time
@ fmzsrwm
' Tear downtime

(e) W&EH €Y

. Handling time -
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TR | e 20 /e g W 1.2 find, @RA e w3 felt )
»FmdtheUmcwqmredtonn'naGOmmdlametcrrodtomedlmensmnsshowanig 2.

TakecumngspeedasZOm/nun feed as 1.2 mm. AllcutsareSmmdeep (742 +10)

(i)
4. @)
- (i)
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‘n—— 115 -—+—— 100 ——ol
wft ura frft # € | / All dimensions are in mm,
ﬁﬁZlFig.-Z

AR g Y IwITE e I e fafe |
Write factors affecting welding cost.

TG EAAH 15X 6 x 1 cmm%amﬁﬁaﬁrﬂaéﬁnmwm%m

) m%mmmmmﬁm |ﬁﬂ1t'amﬂmm‘rmtrﬁqa

forTer viferd ¢ -
Estimate the material cost for welding 2 flat pieces of m.s. 15X 6 x 1 cm size, at
an angle of 90° by gas welding. Neglect edge preparanon cost and assume.

(@ O,y h ¥ = tiosft}
h Cost of Oz = T10/m®
(b) CH, F &FTd = Z60mft.’
Cost of C;H, = ¥60/m.’
~(c) - o i T ue = 7um/&8}
. Density of filler material = 7 gm/em’
(d) ¥RoT g @} ST = T12/fEm
‘ Cost of filler material = Tl2/kg
1 3t Hiverd Y el & o
For 1 cm thick plates : o
- oftEm™ = 07 Ew
Ozconsumption .= 07m’/hr
- GH e = 053 /wva
C,H,consumption o= 05 m’/hr.
-~ WUES W =  Shef
~ Filler rod diameter = Smm ‘
- wOBEHIEwEETEE = 45H./A 31%@1
: Length of filler rod required = 4.5 m/m of welding
Welding time = 30 min/m of welding (7+10Y%)
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ﬁﬁan&mﬁﬁﬁmﬁwﬁﬁmmﬁﬁmm% ? - ¢
How losses in forging operations are estimated ?

-3 # wefife sgem e & 2omn4a;ﬁmuﬁmwﬁmqﬁﬁwﬁﬁ
T | R e AR AR

200 pieces of a component, as shown in Fig: 3 are to be drop forged from a 4 cm
diameter stock bar. Calculate the cost of manufacture, if

(a) e v = riowRHdx
. Material cost = X 10 per metre
(b) BN IR = 20.01 7y &h.2 Bifa 6 1 a1 Tag dawa

%0.01 per cm’of surface area to be forged
wEref FRTE T 10%

Oncost o 10% of material cost =
mﬁ%miﬁmmzﬁﬁﬁmﬁmmtl |
Consider, all possible losses during operations. ' (7+10'4)

.“

T e«

aft g A F ¥ 1 / All dimensions are in cm.
fe=-3/Fig.-3

Forging charges
© S0 @

it e e et o b R |

Describe different sheet metal joints with diagrams. -
TF 0.5 x 0.5 x 1 ., Jumf AR H1 Tk WE S G T 6 feft, Werd Y @2 @
T A & | e ygrd e 8 T, /A, & qu e 1 e e s |

A container open on one side of size 0.5 x 0.5 x 1 m heightis to be made from

- plates of 6mm thickness. Take densxty of plate material as 8 gm/cc and joints are

to be welded.

Preafoia stfest & T <t T o awed SR ;

Estimate the cost of contdiners from the following data :

(@) WRATE = 24,00 9f feam.

o Cost of plate =  ¥4.00 perkg
(b) ¥EAAGT = WEHS5%
~ Sheet metal scrap = 5% of material -

(c) & ' = g @TE W 10%
Labour cost - =  10% of material cost

(d) 3fREn v & e = syl I
Cost of welding material = 25 per metre weld . (7/2+10)
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